ni- r0lvec=a/2 {—1, -Tan[Pi/G] , 0}

a a
Out[1]= {——, O}

2" 25

ne- r02vec=a/2 {1, —Tan[Pi/G] , 0}
a a

outlgl= 1 —, - , 0

@ r03vec = FullSimplify [a {O, Sin[Pi/3] -1/2 Tan[Pi/G] , 0}]

a
Out[3]= {O, — O}

n4:= rO0lvec.rO0lvec

outfd]= ——

3

ns= rO02vec.r02vec
a2

oulsl= ——
3

inel= rO3vec.r03vec

32
outlel= ——
3

w7~ Hvec=1i/(2Pian2/3) Cross[{0, 0, 1}, -r0lvec-r02vec+r03vec]

A/3 1
Oout[7]= {— , 0, O}
arn

- Bvec =4 Pix10A (-7) Hvec

(L,

2500000a

Out[8]=

Ing]- Bvec /. {i—) 10, a—>3/10}

1
Out[9]= { -, 0, O}

25000+/3

infto]= N[%, 20] *10A5
oufio}= {-2.3094010767585030580, 0, 0}



